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QUESTION 1

Kevin wants to use an SSL certificate from his Mac OS X server so that he can send and receive encrypted email. What
would Kevin accomplish by typing in the following command? certtool c k=/Users/root/Library/Keychains/certkc 

A. Remove any unnecessary permissions on the file "certkc" 

B. Create keychain called "certkc" 

C. Copy the root certificate of the server to the file "certkc" 

D. Import encryption key into the file "certkc" 

Correct Answer: B 

 

QUESTION 2

Harold is writing a J2ME program that run an inventory application on his company\\'s PDAs. 

Employees will use their PDA to scan barcodes into the program Harold is writing. Harold is very concerned about
securing his program\\'s code and ensuring its integrity once it is utilized. Harold particularly wants to stop the execution
of class 

files loaded in the virtual machine in any way, what is not allowed by java virtual machine specification. 

What level of J2ME security should Harold implement to accomplish this? 

A. High-end security 

B. End-to-end security 

C. Low-level-security 

D. Application level security 

Correct Answer: C 

 

 

QUESTION 3

Devon is writing the following code to avoid what? 

 

Sub Application_BeginRequest(Sender as object, E as EventArgs) 

If (Request.Path.Indexof(chr(92)) >= 0 OR _ 

System.IO.Path.GetFullPath 
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(Request.PhysicalPath) Request.PhysicalPath) 

then 

Throw New HttpException(404, "Not Found" 

End If 

End Sub 

 

A. Type safety 

B. GET source code path 

C. Parent path tampering 

D. Canonicalization 

Correct Answer: D 

 

QUESTION 4

Gloria is the lead operation manager for a movie production company in Las Vegas. She has been asked with ensuring
that the new movie created by the company will fit on one side of a DVD disk that will be sold to the public. If the movie
mentioned is a full-length production and must fit on one side of the disk, what level of compression must Gloria use? 

A. 100 Mb/s 

B. 10.5 Mb/s 

C. 3.8 Mb/s 

D. 7.2 Mb/s 

Correct Answer: D 

 

QUESTION 5

What encryption algorithm is used by PERL crypt() function? 

A. Skipjack 

B. 3DES 

C. DES 

D. AES 

Correct Answer: C 
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